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QUESTION 1

Click the Exhibit button.

ge-0/0/0| 4

__I L_. ! 10.12.0.0/24 § _] l_. : 10.23.0.0/24 % _] L.
. || /8e-0/0/0 EE-WBNWEE-WWZ ge-0/0/0\"| [
R1 R2 R3

R2> ping 10.23.0.3
PING 10.23.0.3 (10.23.0.3): 56 data bytes

64 bytes from 10.23.0.3: icmp _seqg=0 ttl=64 time=2.654 ms
64 bytes from 10.23.0.3: icmp _seg=1 ttl=64 time=2.673 ms
64 bytes from 10.23.0.3: icmp _seq=2 ttl=64 time=2.229 ms
e

--- 10.23.0.3 ping statistics ---

3 packets transmitted, 3 packets received, 0% packet loss
round-trip min/avg/max/stddev = 2.229/2.519/2.673/0.205 ms

Referring to the exhibit, what is the source IP address of the ping that was executed?
A. 10.23.0.2
B. 10.23.0.3
C. 10.12.0.2
D. 10.24.0.4

Correct Answer: A

QUESTION 2
You are asked to convert the number 7 from decimal to binary.
Which number is correct in this scenario?

A. 00010000
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B. 11100000
C. 00000111
D. 00001000

Correct Answer: C

QUESTION 3

Which type of device uses the destination IP address to forward packets?
A. hub

B. repeater

C. Layer 2 switch

D. Layer 3 router

Correct Answer: D

QUESTION 4

Which command causes the Junos OS to temporarily activate a configuration?
A. commit and-quite

B. commit synchronize

C. commit check

D. commit confirmed

Correct Answer: D

QUESTION 5

What are two protocols that the Junos OS uses to archive configuration files remotely? (Choose two.)
A. SCP

B. HTTP

C. SFTP

D. FTP

Correct Answer: AD
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